5.3 The Law of Sines
3. Answers:
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6. Answers:
a. tan54° = ;A — h=98,c0s67° =28 5 x =252
b. The angle we are finding is the one at thc far left side of the triangle.
8.97=11.22412.6"—2-11.2-12.6cosA — A = 43.4°
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7. First we need to find the other two sides in the triangle.

=46.3,y =234.3, where y is the length of the original fight plan.
. The modlﬁed flight plan is 218 +46.3 = 264.3.

« Dividing both by 495 mi/hr, we get 32 min (modified) and 28.4 min (original).
« Therefore, the modified flight plan is 3.6 minutes longer.

8. First, we need to find the distance between Stop B (B) and Stop C (C).

_'1” = - _c B=137.C=204.
The total lengﬂlofhcrroutf: is 1.1 +1234+13.742044+ 1.1 = 48.6 miles.
Dividing this by 45 mi/hr, we get that it will take her 1.08 hours, or 64.8 minutes, of actual driving time.

In addition to the driving time, it will take her 6 minutes (three stops at 2 minutes per stop) to deliver the
three packages, for a total roundtrip time of 70.8 minutes.

Subtracting this 70.8 minutes from 10:00 am, she will need to leave by 8:49 am.



